Which of the following languages were added if gt Schedule later ?

(A) Engis, v, Vira, Sty (9 Sens Sid Kot M
(©) S, Konkan, i, Nep D) Mrt Oy Koo NPl
T 3 4 33 ot v e 3 g e A 2

(A) M, ﬁlﬂ, m’m (B) ﬂﬁﬁ, feft, i, qﬁ]gﬁ
(C) fat, wiwft, i, Tt () e, 3, Hfepuft, ATt

In which case, the Supreme Court held that findamental rights are unamendable ?
(A) AX. Gopalan’s Case '(B) KeshavanandaBharti’s Case

(C) M.C. Mehta’s Case (D) Golak Nath’s Case
R e 3 e e P s AR e 7 e R €

@) TH AR (B) FERIAFE
(C) .4, dga1 H (D) e s E&
By which method, Prime Minister of India is selected ?

(A) Election  (B) Appoinfment(C) Nomination (D) Selection
forer ferfer grr e 35 STt 1 < foen e & 2 |

(A) T @) fafk  (© W (D) TN

Which is described as the twin sister of the Estimates Committee ?

(A) Public/Accounts Committee  (B) Commitiee on Public Undertakings
(C)" Departmental Standing Committee (D) - Privilege Committee )
P STTFer a1 e e (3 o) % w9 3 Sewifaa R 2 9

(A) - afifd (B) eI IUhY ity
(C) Fasmfra e wfi (D) feriitrnm wfify
Judge of the Supreme Court and High Court can be removed by

(A) The President N (B) Parliament
Council of Minister (D) Chief Justice of India

?;

(C) Union

o 38 TR 5 A 0 g £ 7

@) T ®) wwe

(©) FA S i

(©) ™ | 3 Code No. : C-8372022/Seriesny



10.
11.

12,

The 3-tier of the Panchayatl Raj System consists of

(A) Gram Sabha, Anchal Panchayat, Panchayat Samiti

(B) Janapad Panchayat, Taluka Panchayat, Anchal Panchayat
(C) Gram Panchayat, Panchayat Samltl Zila Parishad |
(D) None of these

R ot e 3 - R -

(A) T &, I T, e i

(B) WY YHTA, TR, FE Y

(C) T eI, gm@ ﬁw‘m‘@

O wanidE

Which article deals with National Emergency ?
HN H1 ST, “TP SHwhEr” & HoY T8 ? U
(A) 352 (B) 35 _r' | (C) 360 (D) 368

Blue revolution is trelated to

~.(A) Fish production - A . (B) Milk productlon

(C) Oilseed production . .(D) Fertlllzer productnon |

S (o<1 Feaiieqy) mm% ?

(4) TG (B) TUIG | (O) eﬁsmm o aafesm

Structural unemployment arises due} . -
(A) Deflationary conditions - (B) ‘Heavy mdustry bias . -
(C) Shortage of raw materials (D% Inadequate productlve capa01ty

LT firereh R I BN & 7
(A) Feeifir i g o . (B) THTEMUEE -
C) FRTAHFH - (D) AT IeTE ST

In which year, first five year plan was launched i in India 7.

w7 3 P 9§ Tum v Ao A TR R

C(a) 1921 B) 1981 Sow @ ,'1.95,1

The drone in honeybee ae .
(A) Fertile male (B) Fertlle female (C) Sterile male (D) Stenle female

3 quye 4 -
(A) FET  (B) W«*"‘W ) WERR (D) eagéwm

Among the defects of eye, the Short  sightedness is called

(A) Coma | 2 ;' | EB; Hypermetropia -
C) Myo ia | Astigmatism
R 'ﬁ—\ww% |

s

(A) 'q'?m (B Slsxlil'gf“lﬂl ©) W (D) ﬁ@ﬁﬁm

Code No. C-837/2022/Serles-D o4




13. The first effect; |
tive-vaccj b am ared by
(A) JH.Gibbon agamst%ﬁ°“°‘w o P as E. Salk

C) ROb%tq ]:_;ga‘%ards James Slmpson )
TRt ST ﬁmﬁ Ry
(A) . frem (B) St {, ﬁ@ T‘“"’f‘@a@ @) ¥
beats in a minute ?

Normall§ how many times the human heart :
TTHT=T: AR 523 R 95! ¢ 72"
- (A) 82 -~ (B) 75 . (O 85 (®) )

15. Due t6 the horizontal motion of air}itransfer of heat is
(A) Advection (B) Convection) (C) Conduction
g <t &fes 7ifa & FRo, S H :ﬂ'dt"l FEAIE -~
(A) Af@mEr . (B) "I (c) e (D) 'alaﬁ’:"'

16. When water freezes, its density
(A) Decreases |
(C) Remains constant ,
e IR S ST R, a9 e e o
(A) SRl (B) sxzrérenmﬁl(@ f@ﬂr@'%' o) W".%_';

17. Shaving Mirror is Ay
: (D) Parabohc

known as ;
( ) Radlatlon

| (B) Becomes Zero
(D) Increases

 mgm.
iC|

A) COIIVCX (B') Copcave : (C) Plane
(A) m B) e - (O m (D) wmﬁﬁ

18. Who discovered Proton ?
(A) E. Rutherford

C) Goldstein

N RCIAEEEIN |
(A) 5.@@E  (B) . fR (C) Thvﬁw (D) %ﬂﬂ%ﬁ%ﬂ

19. The process of deposmon of a layer of Zinc on iron is called
(B) Crystallisation

(A) Galvanisation o) o
C) Rustingpexams. in D) Baking = —~ - — -
( @ Rish I T FGH i <t afFT A FEA@R |
(A) ey (B) m '(C) Wi | (D) aﬁ;q

'(B) F.Miescher
(D) . Henry Cavendlsh

20. Malachite is an 0r¢ of : , o _
(B) Manganese (C) Mercury (D) Cbﬁper

(A) Lead

BrrTge e 0. ;

o @ ©w O
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21.

22.

23.

24.

25.

26.

217.

28.

In which country, World’s 1argest €Ver freshwater fish has been found

(o Avstral C

ustrali Ch .

OF CINCRCE zéw e WOR
(A) Fegferm ®) a‘h (©) w&Eem (D) el

Which institution recently released a report titled ‘Payments Vision 2025’ ?

) NPCI B NITI Aa k
%Wﬁmﬁ(ﬁ)ﬁwﬁmwﬁ” A%q‘liaﬁ% WorldBaﬂ
(A) T4 .H.eTE. (B) Wiy e o »

(G) Hfe s - (D) fradw

yghlch cguntry recently launched 1ts most advanced aircraft carrier named
u_uan 2

1(%% UAE  (B) China - (C) NorthKorea (D) Iran
2TeT € 3 ST FER Sy ATgH e U i e foha. ?
(A) u‘a‘ (B) C) FwHfem (D) F

What is the rank of India in the world Competltlveness Index 2022 Hee
e SRR i 2022 F WA T @H A AR

(A) 37 ~(B) 45 © 52 ®) 57 .
Which organisation recently developed the nuclear capable Pnthv1-II m1ss11e ?
(A) Boeing B DRDO :

(D) Dassault Av1ai10n

%ﬂmﬁm'@ﬁmmw coqeait-11" R HE? |
(A) =& ®) AsmFa (€ @i (D) seftee QR

In a certain code GROUP is wrltten as OTNQF. How is THEIR wntten in

that code ?
et 5z & GROUP 1 omqp%mﬁ%mmm% | 5eft e THEIRﬁ%a
R '"g. LEY rov)

(A) SJFIU (8) QHDGS (C) SGDHQ (D) QJFIS

If rat is apple apple is cat, cat is milk and milk is cow, which is milk ?

(A) Ap (B) Cow (C) Rat (D) Cat .
@) ArRTs dafissh, R AT T, Agu e w2 ?
(A)% (B) ™ C) =7 D) freeht

lth

In a column of girls, Kamal is 11" from the front. Neela is 3 places ahead of

.~ Gunita who is 22™ from the front. How many girls are there between Kamal

and Neela in the column ?

Fefral &l T e M A1 8
30w Re |ﬁﬁmmm§mﬂg§;ﬂﬁf 3?%!1?aﬁ%a‘tam

7
(A) 6 (B) (©) 8 (D)] 9

\

~
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29.

Pointiﬁg towards g pi - y daughter of the only
ards a gir], g ¢ 11 wghe is the only gh 4 with

son of the wife of Cacher gaidy """ 5o 11w is the girl relate

the teacher 7 of the fa“‘er'ln-la\y&fm)( wife”. Ho

(A) Daughter

(C) Sist (B) Nieee inlaw
1ster (D) ' Daughter-in-1a u
Wﬂgﬁﬁmmmg m@?«wg‘ m@%@ﬁqﬁ%
T T R T T D | ) TR ™3 v T e € 7
TR 1 g e PG =
(A4) ¥4 ® %=  @© % O
30. Which letter is in the middle of 13;!‘.‘ilétté'r from the left 3%1 4t Jetter from the
r;%l;t? Achoc.famjf%guqé’mé;TV L KT Z
1 AT A 13 9 e g & 478 oA oh A AR ? o
(A) R (B) 1 (©) J D) S
31. Antonym of ‘Dither’ is VR adlk '
(A) Cry  (B) Refer 1 (C) Decide (D) Defer
32. Correctly spelt word is | S VR ' ,
" (A) Concealment(B) Concilmefit (C) Consilment - (D) Cuncgalment
33. One word substitution for ‘One wﬁ% always runs away from danger’ is -
(A)  Escapist (B) Timid " -"!'.? &C)' Coward (D) Shirker
34. The opposition to re-marriage of yyidows blew _indue course of time.
(A) off (B) out"‘_ . (©)'uwp (D) over
35. Meaning of idiom ‘To draw a bead upon’is o
(A) To make prayers (B) To cause hindrance in work
(C) To count the benefits: v (D) To take aim at
36, “fm %y Rede R O A VP
@) f+dm @ R+ (€ R (D) A+
37, ‘omeny ¥ @ R L () L &
@A) R (B) ¥ (C) T (D) T
38, e AR i ;
(A T ™ .= (DT
39, wiTEE EREME 0 .
(A) HEreT .. ' (B) TREARER
© forear A (D) fREmAEE
I YL O T __ (D)

Code No. : C-837/2022/Series-D



41,

42,

43,

44.

45.

46.

Eﬁﬁ;—;—aﬁrﬂﬁ_ﬂ&rles&

T T e 4 2

What is the Bi]| Receivable Account 2

| (A) Personal A/c , | | (B) Machinery A/c

(C) Real A/c (D) Nominal A/c

!

(A) =fRmaEmm B) wfid @ '(93) IR @ (D) A S

When the bill is noted from the notary public, it is known as
(A) Noting . (B) . Discounting, (C) Accepting (D) None of these

1 {80 A ofetrs gror e R T 2, RwE

(A) & B) =R (C) W (D) Fﬁﬂ}ﬁ’*ﬁ

Which of the following is the characteristic of Business ?

(A) Production - » (B) Exchange of Goods
(C) Risk elements (D) All of these
BEC RNk ol e B o SRR
(A) 3T L. B) wEamE w At

) IRmBT (D) mh -

. —

Identify the activity which does not support Trade ? .
(A) Banking = (B) Warehousing(C) Insurance (D) Mining

" 35 fFar =1 g9 it 5 e smR ¥ e s T R 2

A) & @) We-Em (€ fW . (D) wwfT
Policy formulation comes under the role of | _- L > |
(A) Top Level Management ~ (B) Middle Level Management
(C) Operational Management (D) All of these SIS
A Pt 7 o fren pRgA A oT@E 7 R

(A) T e ®) we e

(C) TTeTh Faua A“(D)-,qg-g\ﬁ |

Name the process that conver:; a meés('élge into Communicatidn syrﬁbél..
: B) Encoding :-(C) Feedback D codi

(A) Media (E ‘o X (D) Decoding .

mwmmmﬁf‘@ﬁﬁ"i“iﬁ'*"“ Rivaiter o weer e | -

® T O ew ()

_—-—""-‘.

8




47. The charges of p| : 1d be charged to
- (A) Tra 1ng A%: CI(nt comg:oﬁlgjs mtcz (s:aleaé)/lg condition ?lll)c;u bgme of these
c @ HTT
:%! | ¥ v o e Tt -
48.

If it is required to maintain fixed capital, then the Partner’s share of Profits must B¢
(A) Credited to Capital AccountI;
(B) Debited to Capital Account.
%(1;)) lgebéteddto Partner’s Current Account. #
_ redited to Partner’s Current Account. o =

afe FRR G5t 1 wfa e s 8, m%m%’;maﬁ

(A SR § s st ) o

o (B) ERE@ AT A ARl
(C) TR & Tl WId 7 A HHT iR |

(D) e 3 e o I

EEE
C|

49,

The scale apphed in statistics, which imparts a difference of magmtude and
- Proportions, is called as s :
(A) Exponential scale (B) Goodness scale ,
.(C) Ratio scale (D) ' Statistical scale .
- a@ﬁﬁmaﬁmﬁaiﬁﬁiqﬁqmwmﬁh%iﬁa%ﬁaaﬁ
(A) THETATRRETE Thel (B) T=AE &hel
(C) Rrn = (P) Rffewawha
50.

The variables whose calculatlon is done accordmg to the welght helght and
length are known as -

A Flowchart Variable ,' gB Discrete Variable
Contmuous Variable

‘ Measuring Variable
& Reh) T YR ST a1 oEE % =

( FTER AN G 7
(A) wh%niat (B) I@Ad=R - (C) HaaW (D) W9 =

§1. Which of the following is called the book of ori

inal entry ?
'A) Receipt and Payment A/c TnaFB
C} Gener}:ll Journa ?3 alance

e o a1 g g Ty OB

- (A) It & YT @l (B) w=it aeiwe ( éﬁq
(C) W S+ (D) m@m%m )
52. In India, the GST is based on dual'model GST ad
(A) UK (B) Canada  (C S“i el m(D) J
WRa ¥ GST_____ " AR TE GST 3 mq{aﬂwma%apan
Aa) I (B) TSt _ ©3WT (D) vmw

Code No. : C-837/2022/Sarios




S3. A, B and C Share profit and losses of the company equally. B Retires from
business and his share is Purchased by A and C in the ratio of 2 : 3. New
Profit sharing ratio between A and Clrespectively would be |

A,chmasmqégrﬁ@mﬁa&amélswﬁﬁqaﬁmt

T ST T A 9T C gRT2 : 3 3 37N 3 @ AT B & #=

.meﬁmwaﬁqmm:am; @ﬁaﬁms‘:rm%l B
A) 1:1 ~(B) 2:2 . (C) 7:8.. (D) 3:5

34 P,Q and R have been sharing proﬁ_té_ in the ratio of 8:5:3. P retires, Q takes
3/16™ share from -

e P and R takes 5/16" share from P. New Profit sharing ratio
ill be ) . o
P, QT R e w1 i 8 : 5 : 3§ & | P Fraw BT 8, %Trl”ﬁS/.lﬁa’fm
AN I AATR, P A 5/16 af wmr aren @ | T T fRyeror 31T
- (A) 1:1 B) 10:6 - (0)9:7 - (D) 5:3 |
A, B and C are partners with Profit V'shari.n[g ratio of 4:3:2. B, retires and

goodwill was valued ¥ 1,08,000. If A and C share profits in 5 : 3, find out
the goodwill share by A and B in favour of C. - o

5S..

(A) ¥22,500and T 13,500 . (B) 16,500 and ¥ 19,500 -
- (C) T67,500%40,500 L0 ; (D) 19,500 and T 16,500 -
AUA,BARTC, 43 1 2 % U F oyl TR 3 9 wreer § | B e fr
] TUT S T Yo ¥ 1,08,000 fFmsmar? | af A wen C 5 3 % U #
AN, ACFITARMCH MM A@HIIC] -
(A) T 22,500 3T 13,500 ' (B) %16,500 3R ¥ 19,500 .
(C) ¥ 67,500% 40,500 - (D) 19,500 3R X 16,500
56. Which of the following is not a Current Asset ? * ’
(A) Slipplies_ L4 T R -'"'F(B') Land. | I :
(C) Account Receivable ~=(D) Prepaid Insurance

P dd PR T S e 0 N
(A) mafd ®) ¥ (©) I (D) o wew

57. Ina B/S, the total of common stockiand retained earnings are denoted as

(4) Commonequiy " (®) Dueequy

O) Preferred.equity“ " .. (D) Common P erpetuity '
éﬁéﬁﬂﬁﬁzﬁ,mm'mamﬁm(ﬁégm)%@mﬁ_ N
F\qﬁﬁﬁgmm% ! 3 Bhon - . e
(A) T 3Rt - 20 (B) S

(©) iftm= ¥ ,__..QAN(B) ST T (affeefe)

i-Code No.: C-837l2022/Series-D 10




58. The Process —

T . of ot

..~ soldin aincom ooording inventory that gives 2 Lower Co

(A) Fi © Statemep; ; en;:?-!y

= (C) L st out Receivape is denoted as . IFO

. (Q Last out Receivable g% LIFO

. TERw R qﬁmaﬁ‘a‘s’uﬁgﬁmmﬁﬁﬂﬁﬂia@ﬁw Sl

(A) = s ﬁm%‘@ﬁ s fpe ST € | -

(C - . (B) mgﬂﬁém
) TR AR Rides 5 (D) TRTER AR

59. Information that is used by investors for expected future earnings 18

st of comuus~- -

recorded in

' 2‘8 gnnlll'lal Report _ . ' (B) Five Year Report,
xchange Report S (D) Stock Report '
tmmﬁsﬁﬁgmﬁ .w@a@z(ﬁé),ﬁm%mmaﬁaﬁﬁi 98

il Rl fraT ST @ 7 % 3 |
L(A) Tffs i (B) duadfafEE (O) R R (D) T Raie
60. ' firm Goodwill is not affected by, - |

(A) Location of Firm 7. (B) The reputation of Firm .
(C) Better Customer Service .- (D)_None of these _
s wH h T & TTfagiAET g @ | 228
(A) B F T (@eeE) M0 (B). wH AT afaET - - =

(€) &R ATEH | R A ¥ & = T
61. - Weighted average method,0f calcula%ﬁg- Goodwill is used when
. (A) - Profits are not equal ’ ' w '
(B) Profits show an increasing or decréasing trend
(C) Profit are fluctuating i o
(D) None of these S A AT |
. it S o St wTia Sftaa iy T I fehen Srar @ S
(A) A EAFAE | =
(B) oS T g A1 vl Fgf () suiar @1
(C) @™ & | 0 e
(D) 379 & %18 &l

62. A firmearns< 1,00,000. The Normal rate of return is -10° ' .
Company amounted to ¥ 11,00,000 and liabilities 1tsol'g/i).(')r(‘)h g(')%ssets of the
Goodwill by the capitalisation of:actual average profit will e Value of -
@mﬁzl,oo,oooa;m?ﬁ%mm@srﬁmsa@alo%%‘ . e.ﬁ o
z 11,00,000 T= TR ¥ 1,00,000 § | Sreafass WW% T waferat

e &1 4o 8P : &N 9 3ftea b JofeoT T

'(A) ¥2,00,000 (B)_ < 10,000 ~ (©) 5,000 (D) Z1,00.00n

Ta -

o R e




63.  Sacrificing Ratio is used to distribute ____in case of admission of a Partner.

Eé; ll?{escrlvcs =+ (B) Goodwill
evaluation Profit - . (D) Balance in P & L Alc.
I 1 I, T WG arf@a NAHfRMT, - FREwd
mwm .y
(A) I (B) S |
(C) Tjruis wm () - R 9
64, }f\ t; P&rtnership firm considered as a separate Legal Entity ? -
0 Yes Partially yes (D) None of these
WWWW#@ éﬂ*lﬁ 3 'HFITGIT?IT% '
(A) =& - (B) '@T (©) e (D) sﬁﬁﬁiﬂﬁf
65. Which is not a feature of Partnershlp Business ? |
%é; Ease og f;c:r;‘natlon (B) Limited liability
imited Life . (D) Mutual Agency
TR ARG TR AR
(A) TRwivr <t T | (B) diftm e
(C) i Shamsm | ) I T
66. IfR.B.I reduces Cash Reserve Ratlo, what will happen to the credit creatlon ?
(A) There will be no impact. \ (B) Itwillincrease.
(C) It will decrease. (D) None ofthese =% * -
Tfe R.B.L.¥w fwd mgmamw:eﬁ‘% mm—aﬁwﬁwﬁm ? .
(A) Ty TE B | - (B) WEgM|
(C) [E&m | . (D) T Q@ HE &

67. What option does the Central Govt. not include in development expendlture 9
(A) Grants to State ,
(B) Expenditure on Social and Commumty Service
(C) Defence expenditure
- (D) None of these
Wwﬁm%mﬁmmﬁwﬁzqﬁm% 9

(A) TS AIEH (B) Wﬁmamgmﬁaaﬁ%nhmm
(C) W= . (D) TR
. What d in preparing Trial Balance? -
68- (A)aSl;elg:hsed Journals . (B) B/S |
%z Ledger Accoun:‘it:.:_!i111 ﬁmﬁﬂ?ﬂ % (D) General Journal
o A () Q) T LSS
—— _

Code No. : » C-837/2022/Serles-D



69.

70.

1.

72.

In Trial Balap
. ce ;
credit side ? Which account,with normal balan¢

(A) Bank Arc i nt A/c

e IS recorded at the

- (C) CashAlc: . (B) Equipme

ed expenses A/
(D) Accru A T 3

T H, mmmw | 9
. - 1 g M1 ol T .

Tax on 1mports is‘consid

er f
(A) Collaterial oas afn ex?gleT(;ade barriers Ehy
(C) Foreign Trade " (D) Temsof Trade
AT WHF__ HITH I e |
(A) SR (B) s () R =R (©) R A

The first instance of demonetisation in India was on

T 3 foggiienton 1 o & e g3 o ¢

(A) 1945 @®) 1947 . (C) 1946 D) 1949

The denominations that were taken out of clrculatlon aﬁer demonetisation in

2016 were :
EA; 100, 500 and 1,000 . 5 8%; 500 and 1000
C) Only 1000 ! 100 and 500

2016%;1%5;‘1m wﬁ@%aﬂﬂﬁﬁﬁaﬁmw, '
(A) 100, 500 T 1,000 !. 500711000 - i A

~(€) W 1000 | :/ (D) 100 T 500

73.

74.

75.

C

(A) s Aifd
o (D) T AP

How many companies are i 1ncluded 1nghe BSE sensex ?

BSE a0 4 & . .
(A) 25 (B) 30 (C) 50 - (D) 111

Which among the followmg does not belong to the Stock Exchange ?

ﬁnﬁﬁﬂqwmﬁﬁﬁmﬁ%? i
(A) KO . (B PO~ (€) NSE | (D) NAV

Which of the following are responslblc for fluctuations in the SENSEX ?
A; Monetary Policy | D; Political instability

None of these
ﬁﬁaﬁ?ﬁﬁW(SENSEX)ﬁW—ma;mm%?
o (B) Temfes aifmar |

A’ sole pro rietor concern is Free ﬁ'om regulatlon by
76 éA; Inglarll) Contract Act 4 B GOVemment ~
C

Private Indian Indian Law

qmm&:ﬁwﬁ mﬁﬁwm@gaa%

Wﬁﬁam;  (B) W&
foreft wRA (D)Wnaﬁh

Code No. : C-837/2022/Series-D



77. Whma&mpmymkmowmmemdclmybewmsﬁlenew

owner, the action is called
(A) Acquisition (B) Merger
(C) Strategic Alliance (D) None of these

¥4 B ST GE0 S S AT ARER S & o 2 3N e &9 § 7§ Ao T
m%f‘ﬁmm%- -
(4) sfoEm @) Rew (O TRwEEE ©) AR TE

78. By which act does the Govt. check restrictive trade ?
(A) MRTP Act (B) FEMA Act
(C) Industrial Policy Act, 1991 (D) None ofthese
5a it & oo wer shefn s (o) Thdm R awd g ?
(A) MRTP Afufam (B) FEMA
(C) At -ifsafifami1991 (D). FHIARSTE -

79. Trade between two countries can be useful if cost ratios of goods are
(A) Undetermined(B) Decreasing (C) Equal (D) Different
2l 9T & i SR TN 8 g6t & 3fe Wi S nTd 31 gl
(A) steift@ (B) sWER (O AR (D) P

80. Which of the following theories suggests that firms seek to penetrate new
market over time ? SRR ~
(A) Imperfect Market Theory (B) Product Cycle Theory _
(C) Theories of Comparative advantage (D) None of these =~
= 7 ¥ B ot aieeaar 98 Tardt € 75 999 $ 9 Saaiie 3 T aen |
WA FA N FRMHAR? '

(A) spisemfga - B) SREEfEE
(C) TETeTs o 1 Rigia - D) FHARE TS

81. Government Policy about exports and imports is.called
(A) Commercial Policy (B) Fiscal Policy

C) Monetary Polickpexams.in . (D) Finance Poli .
O o By & o T B AR S R RS 7
(4) Ty (B) WEHEAR(C) M D) Ay

82. International Trade and Domestic Trade differs because of. -

- (A) Different Govt. Policies (B) Immobility of factors
(C) Trade restrictions .. (D) Allofthese 2
SR AT Ao R ST 31 ¥ 758 e
(A) Tl gt Aifeat - (B) wHiNgRrg

(C) =R foey D) ==
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83. The first conip] , L . hyear?
WO o “"a'ﬂpgfg‘;‘:ﬁ%ﬂnk was established 10 which ¥
A wenfra g6 ot 7 1902
(A) 1794 - (B) 1894 " (C) 18% @) 3 with
84. Following are the Ce 1y associate
ntra] Co. :ve B directly
%é; (S36n_tra1 S i Opemqv:B)a Land pevelopment Ba
- State Co-operative B / D) Farmers
ﬁm%ﬂﬂmﬁﬁm%@ank {q‘aa%( ) @'%m
(A) = TR _ (B) s@ﬁm@r% |
(C) T gt dsh (D) feEA '
85. Co-operative movement first stai"t_'_éa;in | | |
. (A) England (B) France (C) Spain (D) Germany
WEHI HQo FasoH Fel e g ? e
(A) $=is ® wa .© @ . O STt
86. The Principle followed in a Co-oﬁefat'ivé society is -
(A) No Vote "* (B) One man, One Vote
(C) Multiple Vote dor 8y - (D) One Share, One Vote | ;
(A) 1§ A el /*’t ' &;(B() T SAfaR, Toh A
(C)- ¥ (D) TH AW, THHA
87. The Company managed by"Group of péf}:ib_@ isknownas:
(A) Board of Directors. -, (B);: Group of Members
(C) Team of Shareholders (D)":None of these '
Y 1 =Y, aﬁ\ﬁ’%@wmmmg,mg_
(A) a’réaﬁq;zm’tazﬁ ' (B) GcEiHIEYE
(C) JFTThi 1 T8 - (D)-FHAwE T
88. The élope of indifference curve is eqﬁéi to which of the follo&ing 0
(A) One - (B) Marginal Utility
(C) Marginal rate of Substitution (D) None of these
maﬁmm,ﬁnﬁﬁmmmgfz ",
A) & . (B) #wia Sudhfiv
() dmmsfemEg . (D) i A

vi115

C v
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89.

90.

91.

92.

93.

94.

9s.

Hicks and Allen believed that utility :

(A) Can be measured in cardinal numberg,
(B) Can be measured in ordinal numbers,
(C) Cannot be measured. '

(D) Cannot be expressed.

TR e e 57 ST o o ST Y | 2
(A) "R ¥ msER@E | (B) mmﬁmmm
(C) =n 7 < whar | " (D) =y i e 1 bt @ |
Goods imported for the purpose of export is knownas - -
(A) Home Trade o (B) Foreign Trade,
© Entregoat%;a%e o %)) None of these N

I fFTUAE R . wEaETe |
(A) =F =R ~ (B)",—ﬁﬁanm

(C) gwﬁﬁawm(wwrzis) (D) FTHARE T

Which among the following i 1s not concerned with Chambers of Commerce
and Industry

ﬁwﬁ%aﬁqm%mﬁmmgﬁiﬁ%mmﬂﬁ%?
(A) CII (B) FICCI. ' (C) ICICI (D) ASSO CHAM

Along with the World Bank and H > WTO is third economic pillar of
world wide dimensions.

Fadsawm | Fam, WTOZ!E%WMWMM%W%I

(A) IEA ~  (B) IMF (C) IDB Dy IFO

GST is a tax based on Whlch 1sa tax on consumption of Goods and Service.
(A) Development (B) Dividend ‘' (C) Duration (D) Destination

"GST __ m&am%aﬁa@wﬁm%mﬁnmwﬁmmm

) fem (B) [EEE] (C) ¥« (D) naa:wn

From the below mentioned items which are fmanc1a1 assets ?
(A) Machines ' (B) Bonds *

C) Stock Both (B d
%%%%%;wﬁammﬁmmmﬁ ot (Byend (€

A) =fm | (B) W@ © w®& (D) (B)@(C)iﬁi

When floor Price is set above equilibrium Price it will result in

Short (B) Surpluses - (C) Equilibri
é%)aa B wgferd v Wﬁu’rha) o n%lm a L) Nmone of these

(A) i (B) 3"&"“ © (C) Ay

Code No. : C-837/2022/Series-D | 16 . -




96, The goal of pure mark .
(A) Consumers (B) et é‘;(::om}., i to‘s_tileetithe esire of

(A) et (B) Wﬁﬂ' cofedt D) @R |

970 WhiCh Of the fOHOWin . (C) ’. : '- ltuI'C Support PriCC
Programme ? g is an exampleof & AB7
(A) A price ceiling o v rice flOOT
(C)  Equilibrium Pricin ®) AP
: g () None of these
o 3 i, R e e o e o £ 5
©) “W‘{ﬂﬁﬁfm (1:)) gﬁﬁaﬂi:ré’f

98. Debenture Application Account is in the/form of
(A) Cutrent Account (B)) Nominal Account
(C) Personal Account (D): Real Account A
fesd T JThIE Feqdgae |
(A) TER  (B) TEEER  (©) SRR (D) IS T

99. When a company is liquidated, the Debenture holders have a prior right for

(A) Principal amount "(B) Interest
) None of these

(C) Both (A)and (B) - | , o
& fpet Ul 1 AT BT 8, T TS ST R WA
. qEifsR e R | /] \
(A) TR TR [ (B) =M
D) THAEE

(C) (A)7n (B)3

100. An investor invests in assets known as a

(A) Securities (B) Block of Assets
(D) None of these

(C) Portfolio oy

s A e da A PR Rl

(a) fefes | (B) % A% IATH
(C) DRI - (O) THAREE

stment would score high only if there is protectidn to

(A) Real estate | (B) Preferred Stock
(C) Govt. Bonds | ) Common Stock
fram 31 @HR AT, frbaf_ YIS |

(A) @ TRe | B) B

(€) a9 ' - (D) 9WH () Ris

101. | Inve

o T Code No. ; )
0. : C-83712023/Series D



102,

103,

104.

105.

106.

107.

108.

The concept of Management Accoyy,

Ing was coined b
(A) R.N. Anthony & was coined by

(B) J. Batty

(€) James H. Bliss A (D) American Marketing Association
G Y UM gy R
(A) NG, T N B) .44 |
(€) S wm, i (D) v rehfen TATRCE
Depreci.at.ion is calculated under Diminishing Balance Method, based on ‘
(A) Original value(B) Book value (C) Scrap value (D) Nonc of these
et R AEEE R FammwEddl
(A) THEF I B) WY (0) wmgm - (D) FH AP
As per accrual concept of Accounting, any financial or business transaction
should be recorded | : | '
(A) When profit is computed (B) When B/S is prepared
gC). When cash is received'or paid (D) - When transaction occurs
= TIEHE HeheadT 3 STIHR, His ¥t forelia averan saaTies S7aER fehid
(A) SRR | (B) 3T fargr s o |
(C) TRIMEAMYTRANEG | (D) SHgR fvan e |
Sample is regarded as a subset of W :
A) Data (B) Set);, _ (C) Distribution (D) .Population
B F-EEFFEt e .
@ s (B) R (C) famwr (D) SHEHT
Which of the following is not'suitable for a B2C transac,t\iofif?
(A) Clothes R (B) Flowers =,
]%2; Airlines reservation (ql')é% None of these '
4§ $H 1 B2C WA & e s wwize Y
(A) F98 | B w0 . S
(C) T T HRET - (D) FHIEWE T
E-mail which contain useless material is termed as ~~ |
A) Spam ~(B) Useless mail (C) Trunk mail' (D) Junk mail
g_%a%ﬁmmmmﬁ?ﬁ%,ﬁwm%- '
(A) & B) TWI (C) FHAW .. (D) FHim
Which of the following is not,a Principle of e-commerce ?
(A) Authentication £ (B) Privacy

i .. . (D) None of the
gg{ége rl%s‘-mw@ﬁ@ﬁ%%?.meé 1ese
(A) IR (Bi__ma"h C) B ' (D) THAPE

Code No. : C-837/2022/Series-D " 1‘8 ___________



09. A Portal that helps to establish relationgiand to conduct transactions between
various organisations is termed 5 e N - |
(A) B2B Portals (B) .C2C Portals (C) Both of these (D) None of these
@ﬁéﬁﬁﬁagﬁgmtgﬁ%&%ﬁumﬁﬁmwéﬁmﬁ
mmm d ﬁwm%l . _ .

(A) B2BWé  (B) Cocwém (o) et (D) T A HE T

110. Which of the following is not an example for B2B e-commerce 7.
(A) Invoice and Shopping ’ (ﬁ), Sending & Receiving orders
(C) All of these o (D)) None of these
1t § ¥ 9 @1 B2B §-d 1 T e & ?
(A) FERE@aENT (B)) (@ATEX ST & Tt Tl
C) mwlt g (D)) T & IS T

111. Current Ratio is 3.75, Acid Test Ratig‘;i_is;ii 25, Stock T 3',75,000. Calculate
working capital.

e g 3.75 %, TRrE 3 A 1.25, 8 T 3,75,000 B | HRiEHe ot i
(A) 4,12,500 (B) 3,00,000 - (C) 4,00,000 (D) 4,25,000

112. Share Premium account can be uséd"fog‘s
(A) Paying tax liability. - i\ o
(B) Meeting the cost of issue of share’ 4 debentures.
(C) Paying dividend on shares. - : \‘
(D) Meeting the loss on sale of old Asset. |
v St aﬁﬁm; 3‘“4'7'%'- %mﬂﬁmmmm% )
(A) TP iy
(B) mmaaf%mmﬁwmasm
©) smimifesdsfm . - |
(D) o w3 s T gE & HIg0 e % forg
113. In India, Private sector entered into the life insurance byg; .
o 3 foreft 8t 3 oftew sfte AT & R o i Ry ;‘Slnéss in the year
(A) 2000 (B) 2010 - (C) 1999 | ) , 2015 L
114, A Co. has issued a 20 year bond at ¥ 1,000 par valye v; tha Coupc;n " | f
0

10%. The required rate of return on similiar bong js 190 )
current value of the Bond ? . : S 12%. What is the

St ¥ 20 7 & &1 T 1,000 TR W 10% i
gﬁm%ﬁ%mmuﬁmﬁmz%% umﬁﬁﬁmﬁ‘fﬁam |

(A) 790533 (B) 85045 "(C) 7833.33
19~ éodeNT,“‘*-




115,

116.

117.

118.

119.

120.

Letter of credit is presented.by

(A) Exporter (B) Importer

(C) Custom officer @ ! (D) Shipping compan}’
T 1 Ted g 7 ° i' by

(A) Fafms . L (B) ommw

(C) m<m)amm : () R

‘When was the General Insuraﬁce Council formed ?
T TR I bl TS B g1 o1 7

(A) 1955 (B) 1956:: (C) 1957 (D) 1958

Life insurance corporatlon was found on | REE

(A) 1% April, 1955 5" (B) 6™ December, 1960*

(C) 4™ September, 1956 . - (D) 1% September, 1956

e i SR A A g e 7 | |

(A) 1389, 1955 o > (B) 6 fea=x, 1960

(C) 4 f&amr, 1956 N (D) mam‘, 1956

Who prov1des Pubhc Pensmns ? L

(A) Insurance Company (.}  (B) NGOs who get Govt. money :
(C) State ' (D) Employees 3 -
vf%ﬁ;ﬁmﬁ-rmm%? b O

(A) AHwEeh “ "\k,_ (B) NGoﬁr%mamﬁ mm‘e’m%
(C) T . ay (D) wHST e

If assets are under valued, it would result in ARG

(A) MoreSurplus -~~~ (B) ‘Less Surplus

(C) More or Less Surplus (D) No effect on Surplus

Ife gafat &1 aqaqa:ﬁ?mws‘f Tl 3EHT TR 81T -

(A) ftrs fe Co L (B). R AR

©) sFmEIRE (D) mmaﬁémqﬁ

Free Assets of a company are -

(A) Unallocated Surplus  « . “ - (B) Distributed bonuses

(C) Dividends D) Encumbered assets

(A) IEATETed HAfRH A3 (B) aﬁﬂﬁaa’lﬂa
Offws O O www

—
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{21, An asset must be
Balance Sheet,

, et in its
— by the pygjpess'to be shown as-an ass

| '(A) Possessed  (B) Owneq © cOntroiled (D) Used

T35 8 0 S g K10 T o

(R) S v S | (o
(©) R P ek | e A A R

122. Which is the most important characteristigthat all assets of 2 Business have ?
(A) Long Life of Assets (B): Value of Assets ,

3

(C) Intangible Nature of Assets (D)) [Future economic benefits

O Tl e 8, S A SR A A e ?

(A) HaRRH 1 T e (B)) @Al 1A

(C) et e s (D)) e % T
123. Identify the Nominal Account. SR R
(A) Rent Expenses Account (B)nMachinery Account
(C) Building Account . (D)) (Creditors Account
- T G EEE IR | 01 Da o
A) FrRemEm (B)) Wit @t
(©) fafenamn (D)) R Emw
A &0l P
124. The type of Loss that should not'affecg‘cgst" of inventories is
(A) AbnormalLoss +(B){'Normal Loss
(C) Seasonal Loss - /(D) Standard Loss o
1T 1 o FOrr@ Tl Y T 0 i ST 98] € e, B
(A) M §IFH - (B) WA I -
(C) et gl L D) wEs(m) ER
~ 125, Batch costing is useful todetermine - AT :

(A) Maximum Quantity of Qutput” (B) Miniﬁiﬁih Quantity of Output
(C) Economic Batch Quantity (D) Profit of Batcheg .
e e Rt et o forg 3wvt } |

(A) SR H AFaEAN - (B) mﬁwwj
- (C) RfF IR WS LN
126. Contract Accountisa_- . |
(A) Nominal Account (B) Real Accoun
Personal Account (D) Either Nom:
;%Regm = 3 g ) Ei eerJmmal or Real Account
(A) HAE Gl (B) arafees @y




127, Operating costing is suiteble for
(A) Job order Business ( ) Contractos
(C) Sugar industries - (D) Service industries
W A e e
( ) AW (@) FRd

O) st (qrese®) - (o) w3

128, 180 emphasizeson v ' -
(A) Prevention (B) Inspection (C), Rejection (D) All of these
B0__ wwmimil o o
Whm @) fw (o () FE

129. Where was the TQM emerged? "
(A) Japn . (B) Germany (C) India (D) * America
TQM % fela gt gam o 9 R
@ @@ W (O Fhw
130, needs areneed for survival.
(A) Phys1olog1cal( ) Safety (C) Esteem -~ (D) Social
O, A g
w® ew (© WA (D) qwE

131, isthe process of 1nd§etmg -an employee into the soclal set up of work

(A) Placement (B) “Indiction  (C) Absorpt N
_mﬁmmmmmaemsfg%p%gﬁ%%ﬁwmm |

®) <@ @B FW (O W (D) AR |
132, helps to determine a fair days work and rest penod to complete it, |

(A) Timestudy (B) Workstudy (C) Motion study(D |
bRy T

(A) TR SR (B) W qemw ()rrh:ﬂm D) T

133, Management is kind of force.

(A) Tangible (B) ntanglble C .Vis"bl S
v A O e O) Hidden

134, MBO is used to calculate | - -
 (A) Performance (B) Ability . (o) quate
MBOWW__WW%WE%W)%S'““

(A) femd  (B) ’WT ©) wa
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135. The process of establishing a t; - k is kn
~ g a time qce for the work 15
A) Schedules (B) Objective Seql(lg)lceprocedures (D) Budgets
m%m@mmwﬁmmﬁgﬁmmm% !
@A) ¥ (B) wSRE (o waw O

136. A rigid pian with no scope for discretion is called
(A) Schedules (B) Rules (©) Procedures @) g;-'lgf%?n‘?t gl
T IR Ao, e w-faofy St o oft@wradr T &l
gefer (D) T

(A) VsTew (B) ¥@ - (C) THEET
137. Which menu is used to create new ledgers, grqups and Vou?llje)r t}’rll)'; ;20?(1)1111}; ¢
(A) Reports . (B) Import (C) Masters
A G1 A et 7 S WrareE], Tg qn aee qwﬁ'aﬁwﬁ%ﬁfm:ﬂ?ﬁﬁ% ?
() d (D) TR

(A) feE (B) TR

138. Sales Tax Ledger falls under which group ? AR .
| . ' (B) Purchases

"(A) Sales '
%% Indirect Expenses (D). :Duties and Taxes
Y99 oK fopE THE 3 3iaia @R 2 i S

(A) T . - (B)YfiwEfE - .
(C) TemwR i - (DT TS

139. Which shartcut key is used to view configure inTally ? | |
3= #f R (Configure) @ ¥ fo A H3ie-H H (key) ST 394 BT & 2
(A) Alt+F9  (B) F10.. (C)Flil .. - (D) F12

140. In Tally, we can see list of Memorandum Vouchers from
(A) Accounts Books | (B) Exception Reports

~ (C) Cash/BankBooks _~ - .. (D) TrialBalance

Arriten qreTd 1 e FE1 A qW FAHAL D

Ef=
=

i

é?ﬁﬁ,'a'ﬂ Vit NS 7o) ot DS ST v |
(a) SRR IR (B) TR (C) FARTH (D) g I

In Tally, we can get the report of interest from

(B) In""r”@ﬂ' Books

41.

: (A) Statements of Accounts 3
(C) Cash and Fund flow " (D) Account Books
¥eht f, 7 = H AN AR E | _
(A) Vi A6 THEE . B) el aaw
(C) %1 G I8 wll (D) IH= g

142. Which key is ressed to go to Gateway ofTally FOM Combane
O K s 31 357 T 3 R 7 1 927 v g
(A) Esc (B) Alt - (C) Enter (D) chltrl 1

23 Code No. : C—83712022/Séries-D




143. Which is he shortcut to deblt n0te f Tally 2
?Gﬁ om Accounting Vouchers in
H, SRR TRE & e e g 8

T & e A (key) T €7
(A) Ctl + F9. (B) Ctrl+Fg (C) cul+F1 (D) Alt+Fl
144, How né.gg primary groups are there in Tally ?
| (Primary groups) & 7 "
(A) 10 (B) 15 ©22s (@3
145, 1();)1‘au1t ledger accounts in Tally are |

Profit & Logs and Trial balance (B) Cash and bank
| %(_;% Cash and Profit & Loss (D) None of these
! fewiee o am & | )

(A). W-mﬁwwm (B) e auT % |

(C) o T ey (D) ¥ & K T
146. We can create mul

tiple users in Tally activating
~ (A) Tally Audit

. (B) Use Secunty control
(C) Both (A) & (B) - (D) None of these 7

mrmm &l o are e
() wmfraa@a
©) (A)aen(B)aw’f 1) saﬁwéqa

Which is Tally’s first multi-lingual version ?
|1 =1 o wg- ww% ?

(A).72 - (B 52 L © 81

148. To print a voucher from Tally, we need to press
&oft @ O A e %0 & R & s emm A o

(A) Ctrl+P (B) Shift+P  (C) Alt+P

®) Ctrl + Alt +P
149. In Tally, where do we record transactions of salary, rent or mterest pa1d ?7
(A) Contra (B) Journal - (C) Receipt. (D) Payment
&oft 8, & wew A, Rern a1 = 3R % e 0 el s £9

(A) Hi B) ¥ () = (D) ¥

150. How man)églges of Measurement Umts We can create in Tally ?
St o, g9 Tehd R <hl A1 SehTRal (Measurement Umts)ﬂ?l?lﬂ»‘&% ?

147.

D) 9.1

(A) 2 B) 3 © 4 D) 5
-151. Reversing journal is a .
1 Voucher B
B mmme () N Vot
(A) TTHTATA 9= . "~ (B) WW
(O @m@)E (D) AP

— e

Code No. : C-837/2022/Senes-D T 24




182. Where do we record credit purchase of furpiture in Tally ?
(A) Purchase (B) Payment (C) Il{ecelpt (D) Journal
&, B U W 551 o 7 et st fgté 1 @ 7
AR @ W g O

153. Tally package is developed by

(A) Pentronics (B) Tally Solutions

(C) Coral softwares (D) Vedlka Softwares
& e fred g R fe e 7

(A) ¥ (B) ¥t ey

(C) R W™ (D) ! ireaad

! 154. Amount payable as TDS can be known by which report in Tally ?
(A) Computation - (B) E-Return
(C) Print Form 16A (D) Form-26

%aﬁﬁ%aﬁqﬁé%amms%wﬁéamwwmmmé? |
(A) ®r=ea | (B) e © ﬁmrflsA (D) w26 -

155, Tally vault is a o
(A) Ledger A/c - (B Cost category
(C) Security mechanism (D)' ﬁone of these'
aeft atee 2 T | |
(A) SR@@r  (B) @A (C) ‘ET&?T‘W (D) ¥4 @ HIE T8

'156. What is Tally ? - X
(A) A windows — based Enterpnse Resource Planmng software
' (B) Enterprise Resource Planning hardware -
(C) Both (A).and (B) : SO I | : (O,
(D) None of these oo 1
(kN — m .
(A) & Ternsd et e o7
(B) TeUed fEd wifmgdam |
(C) (A)d (B) gl
(D) FHABE T

157, Which menu appears after starting Ty] . |
(A) Gateway of Tally Y for the first time ?

) Company I
1 pany Info
©) Dl:l% %};ﬁgﬁ W@ﬁ?mﬁ}ﬁéz N%n;: of these
(a) A SR (B) FHRE™ et (D) T awE T
- Ty

Code No. : C-837/2022/Series-D




158. What do you mean by TAN ? -
TANQ s R aed 8 7
(A) Tax Absorb Number
(C) Tax Account Number |

159. Tally is an

(B) Tax Assign Number
(D) Tax Assessment Number

software

(A) Spreadsheet (B) Accounting (C) Publishing (D) Animation
& __ HiRSRE |

W) Fefe @) sweRn () dRRim (D) wﬂﬁm |
160. In Téﬂly POS stands for | ' :

4, POS®Tanfd
(A) Purchase of sale -

(C) Purpose of sale

(B) ;Poiut of safety e

' (D) Pointof sale
161.

Which of the following is not a tributary of the river Ravi ?. i,

(A) Budhil : " (B) Chakki ST

(C) Tundah Beljedi .- M@ Siul .

%aﬁq%ﬁwqﬁﬁmﬁ?ﬁ%? W

(A) = B)" wﬁr ©) groras’ (D) e
162. Which princely state was famous as Sat Dhar region ? . -

(A) Hlndur B) - Bllaspur . (C) Nurpur (D) 'Bushahr

W) & 7 B femw (C) ™ (D) T
163. L F

The “Vashisht’ hot water spring is located in 27
(A) Shimla (B) Mandi (O Kullu e .(;D) Bilaspur
“gfTs™ m gFh 1 a9 e RE R ¢ ,

(A) Rmen (B) W& © F= (D) ﬁmmg(
164. ‘Wild Flower Hall’ which has been reduced to ashes m 1993 was located at
(A) Kalka (B) Killar - (C) Shillai % (D) ‘Shimla
“FTEee TR g Rl 1993ﬁ@mwﬁmwm wﬁ‘mm ?
(A) HITHI B) e () Ao

(D) Ruen
165. Bandhal Valley is located in Whlch district of HP ?

Chamb (B) Una * (C) H D »
e s 3y PP, ©) Kangr

(A) == (B) <. (©) Etﬁtgt

(D) IR
Code No. : C-837/2022/Series-D . - 26 . .
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ame the ruler of - : (Qinoh’
166 I:se 47 Chamba, during whoge penod suffix ‘Singh’ was first
(A) Hari Singh hV
. - B anesh varman
gg:)m lggt;p Singh - ED)) Sir Varman e
ST 1 AW TTEY, R e 3 S ore AR ST g
ST E3 AT 12 3 aw |
W We  ®) mwwRw () ymiE (D) W
167, In which year Raja Sansar Chand took control of Kutlehar Riyasat ?

form = W o TREE A FeareR R oy e 2
(A) 1786 AD  (B) 1805AD (C) 1816AD (D) 1825AD

168. In which year Spiti valley was thrown open to local and foreign tourists ?

fr s 3 TR o ) e T R wiew! % foe @ier w2

(A) 1962 B) 1992  (C) 19% (D) 2002
169. Who was the President of Provisional Government ?
(A) Mukund Lal (B) Sada Ram Chandel
(C) Pt.Shiva Nand Ramaul (D) Padam Dev
IR TR F A B A ? I ER
(A) TFIT |  (B) "HowW <
(C) u. Rawg Wi (D) @R !
170. The Janekang is a form of marriage, prevelent in district Kinnaur, means
(A) Elopementhpexams.in (B) Widow remarriage
C) Love Marriage ' (D) Arranged marriage
Rt 2 SR S, i ReTe 1 0 e 8, 1 30 R -

(A) wewEEA  (B) FvEEERER(C) iR, (D) 3 fome

171. How Parshuram was related to Renuka ?

A) S (B) Father  (C) Brother - (D | -
qtg;tm( i e TR A T d e a7 r'o;sr ‘( ) Grandson
(A) T (B) fomm © Y& (D) W

172. Who built the temple of Sandhya Devi at Jagatsukh ? |
A) HansPal_ (B) Madan Pal (C) Keral Pal’ D
3 e St o1 weT a T U2 (D) Urdhan Pal

.'(A) g9qTed (B) weqIct (C) TS (D) FHure

173. Which Of'the following is not a broad leaved variety found in Hp 9

Oak (B) '.Neoza ine (C) Seemal . D
(8) O, raer & e o e T ) P By

® W O F (D) wm
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174, At which place Gandhi Centenary centre ‘was set up in Himachal in the year
2000 AD ?
A) Jharlog (B) Lethwin  (C) Thakurdwara (D) Cilgl{l)chowk
g 2000 , %Wﬁﬁmmmm%ﬁwaﬁ{ﬁmﬁ%
(A) ¥/etm - (B) wufed C) sFEm (D)

175. Who brought the ‘idol’ of Raghunathji in 1663 AD from Ayodhya to Kullu ?

(A) Lakshman Das (B) Jagat Singh
gc) Damodar Das (D) Keshav Chand
- 1663 T TgaTersht < “wfi aﬁmﬁmﬁqmm?

(A) wEmqE  (B) wwWRE () wwaE (D) ¥

The earliest evidence of s11ver in Ind1a is found in the
(A) Harappan Culture

(B). Chalcolithic Cultures of Westem India
(C) Vedic texts

(D) Silver ga unch — marked coins

176.

LS IR b i S-S - 2 A
(A) TS Tepiy 3 (B) Wm%mwﬁ
(C) e vt oy, D mﬁm—gm

177. The famous Indo Greek kmg \}vho embraced Buddhism was

(A) StratoI (B) Menander (C) Democritus (D) Alexander
ora witrg wreta-fte T sitg ot Y SrgTE o 7

A) "a-1 - @) e ' () Whrwm (D) W
178. Which river is not mentioned frequently in Rig Vedic hymns ?

(A) Ganges (B) Brahmaputra (C) Sindhu (D) Saraswati

HH € 78 F 5k Fae dE: T R g e

(A) T (B) a@aﬂ. © Ry (D) ww=d
179. Sri Perumbudur, a temple town is the birthplace of

(A) Adi Shankaracharya (B) Vidyaranya |

(C) Madhavacharya. (D) Ramanu_]a

oft Ty, T HICH B TR, o I e 7 '-
(A) 3 = (B) m - (C) uEER (D) qu'l‘:ﬁl

180. Who amongst the British Generals defeated Peshwa Baji Rao’I1 ?
(A) Outram __(B) Malcolm

(C) Elphinst D
wmmﬁémﬁmww%%ﬁé ) Kltchener

A) 3RF - (B) W\_ ©) WHRH (D) fry

——
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i, The caves and rock-cut temples at Ellora are | |
(A) Buddhist (B) Jain (C) Hindu (D) All of these
- TR TR - e €
(A) 95 B) ©) &% (D) T|wft

182 ‘Upanishads were translated into Persian during the reign of
(A) Aurangzeb (B) Shahjahan (C) Jahangir (D) Akbar
TR T 3 o SRS e e GO R T 4T 7

(A) HewE (B) WewE (€)WK (D) FHX
- 183. Among the following whose emplre was the largest ?
(A) Akbar (B) Jahangir ~ (C) Shahjahan (D) Aurangzeb
mﬁﬁmmmwm? N |
() ¥R (B) W . (C) Weww (D) M

184. Who was the founder of Qutb Shah1 dynasty ?

(A) Adil Shah : | (B) - Ibrahim Adil Shah II

(C) Tbrahim Qutb Shah (D)' aQuli Qutb Shah
FETE WHTATFH A2 e
(A) e | N lsaﬂ%nanﬁamn o
© wimgg@wme = - (@) ‘ﬁﬁé»@wrs o

- 185. The Slave Dynasty Sultans were
(A) Persians  (B) Afghans (C) Arabs (D) Ilbari Turks

gamam%g’rme} 18
(A) BREt . (B) %R - (C) . (D) e

186. Which was a revolutlonary, who later tumed into a yog1 and a ‘philosopher ?

(A) Bal Gangadhar Tilak " (B) 'Aurobindo Ghish
(C) Lala Lajpat Rai (D) Agarkar-
T8 SHIRR F 9, a‘rmw*ﬁ@mfﬁmmw
(A) anamnutﬁrﬁ .(B) mﬁg}aﬁw
187, The Supreme Court in British India wag egtablished under
(A) Regulating Act of 1773 (B) Pitt’s India Act of 1784

(C) The Charter Act of 1813 - 0 (D) The Chal’tel‘Actof1833 :
mmﬁaﬁﬁﬂlﬂlaa ‘ %ngmm '
(A) TR afufvm, 1773 ®) e $95 i, 1754

(C) =R rferfm, 1813 (D) =t et 1833
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188. What did Gandhiji do to practlce the ideals of truth and non-v1olence in 1916 7
(A) He founded the Gujarat Vidyapeeth,
(B) He joined the Indian National Congress.
(C) He started an all India Satyagraha,
(D) He founded Sabarmati Ashram near Ahmedabad.
1916 % 7itefisft 3 v v oA W%W%MWW ?
(A) SR o s <t wmeA # |
(B) 98 VR U™ e & 91 I3 |
(C) 3= faet WS Femre I forar |
(D) I GHTETE  UTH AIETHA! A Y ST |-

189. The llght coming from stars gives the idea of their
(A) size (B) rotational speed
(C) mass (D) density
I/ 3T ST ST H AHA AT |

(A) 3T AHR  (B) IR PR (C) 3@% g (D) G g

190. The earth is at the largest distance from the sun on
(A) June21®*  (B) ‘March21®* (C) July 4" (D) September 23
q%ﬁ AR TN GPR___ IR -
&) 215 (®) 21 CEll . © 4 Jeé (D) 23 f=r

191. Which of the following statements is true ?
(A) Arctic circle, antarctic circle and equator are great cxrcles
(B) Both equator and longitudes are great circles.
(C) Both latitudes and longitudes are great circles.
) Both equator and latitudes are great circles.
%ﬂ:l FART T FAT AR ?

(A) I a—rr,armaaﬂwﬁwﬁwmﬁ%l
(B) gFI ~ 3 YT QM Eﬁ |

(C) QT &R Tdl AR FETAE |

(D) T RIgeg-J 7T A& TE T ¢ |

192. Which occur more frequently than the other three, in Indian ocean ?

A) C clones (B) Hurricanes (C) Tornadoes (D) Typhoons
& 3 A S T R R T R 9

(A) w ® T ©w @) g
o tional rainfall ? -
193. Which island receives convec
(A) Cyprus (B) Sumat%a - (C) Cuba (D) - Greenland

< |1 2T e aul Ira Fr e ?
(A) 9" B) FM___ (C) wm D)
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. Which rock is transformed into marble ?

(A) Granite (B) Limestone (C) Peat (D) ’Shale
Fra et P e (TR H wOTaia T e 8 ?
(A) T ® B¥wn () e O
95, Gulf stream carries -
(A) Warm equatorial water to west American coast.
coast of Brazil.

(B) Warm equatorial water to the eastern
(C) Warm equatorial water to the western coast of Europe.
(D) Cold polar water to East American coast.
(A) nﬁxmwaﬁmmq%rﬁaﬁﬂaﬁaaw B
(B) T e e i Sl % el 9 T v
(C) T qHEa Sret ah1 R ok AfREH! T T
(D) 33 Yt et <1 it apfhideias
196. Equator passes through which one of following countries ? -
(A) Australia  (B) _ Saudi Arabia (C) Brazil =~ (D) China o
o 1 D e Y ReE WA BRI R? © | -
&) sigke (B) WA O FRw @) W
197.. Which Indian state has no common bOI&e}@i‘th;.Uttérakhgnd ? ' oo
(A) HP. . (B) Hayana (O MP. (D) Pumjab =
ﬁqmmﬂmm%m@ﬁmm#ﬁ@mm ‘
(A) REEERE (B) ™M (C),WERN (D) WM -

198. Which is the most important cash 'cfép of west Béhgal ?

(A) Tea_ (B) Jute (C) Coffee” EO
ﬁmﬁumﬁmw%%% ,fe (D) None of these
@@ B E (© IR (D) FHIRE

199. Which power system provides the highest quantity of energy in India ?
(A) Hydroelectric (B) Nuclear  (C) Thermal — (D) Wind & ti
mﬁﬁjmﬁaﬂ,mmmﬁ-mﬁ@m%? neal ;.
(A) TR (B) TR (¢) arf@ (D) U sary

200. Which crude.oil refinery is nearest to the ;] well ? |
(A) Mumbai (B) Bhopal  (¢) waltair (D) Barayn;
ﬁqﬁa@ﬁﬂﬁﬁmﬁaﬁ'%ﬁ%m)@m%? o
A 7 ® T (g et D)
D e~ MY 1
— 31 ~—— Code No. : C-837/2022/Seriecs -




